Answers

1) a) 10234 b) 41172 c) 29 960
2 3|8 516 4 8|56
X 4 | 3 X 7|3 x 3|5
7 ! ! é 9 4 2 2
vl (238 x3) ) ) (s64x3) 2 | 3 (3s6xs)
TS 200 (3gxg) | 3 Z 908 0 [(ssgxz) 2| 5 6B 0 I(gssx30)
! 3
10| 2| 3| ¢ g |1 17| 2 29 9 6 ¢4
! ) ] )
2) a) 34 $53cm?
b) 22 230¢cm?
c) 73 $84em?
1) a) Laila has not used zero as a placeholder when 5122
multiplying 2 x 40. She has recorded the answer as x 4 4
2 rather than 30. 200 8 2 (c3y4)
ll I R (522 x 40)
212 49 6 3
!
b) Laila has not recorded the 65 3
regrouped thousands digit x 23
following 50 x 20. 9 s 9
!
113 06 0
1 s o 1 9
1 !
c) When Laila added the two products together to 513514
find the total, she added all the regrouped digits . .
as well. 47 4 (s22x¢)
] 42, f 2 0| (s22x40)
1 4g 69 ¢
2) a) 20536
b) 20 323
c) 202
1) 427 6 53
8 |5 4 3,91 8
7
1 2|28 1|0 2 6 1|20
1 3|6 6|4 30 03 8
2) children may first notice that B must be S, because it's the only number that
) R . 77 S Number Letter
multiplies with another number (€) to make a product that also ends in a s. €
could therefore eitherbe 3(3x s =15) or7 (7x S = ). X 3 3 2 3
Children may then notice that € + D = S, so € and D must be 2 or 3. € must 2.3 2 s 3 ¢
therefore be 3.
2 3,2 85 0 5 B
€ = 3,50 A x3=D.If A were 2, this would give 6, adding the regrouped | to make
D = 7. However, in the hundreds column, A x € = 2 x 3 = 6. This does not work 2|5 s 7 s 7 A
with the letters for the first product. Therefore, A must be 7 and D must be 2.
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